Word Problems

Addition & Subtraction Mix

. 52,051 users logged in o an online game during October. [n November, 18,681 fewer users

logged in. How many users logged in during November”?
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2. Ten years ago, there were 8,488 houses in Greenville. During the last 10 years, 51,507 more

houses were built. How houses are there in Greenville now?

3. Alocal hardware store had 4,583 paint tins in stock. Another 26,590 paint tins are delivered fo the

store. How many paint tins does the hardware store have now”?

4 In total, the Animal Rescue Centre spent $34,842 on food for the cats and food for the dogs. If
$9,930 was spent on cat food, how much did they spend on dog food?

5. A cargo ship was carrying 21,428 tonnes of cargo. It stopped at Sydney Harbour, unloaded 12,551

tonnes, and then set of f again. How many tonnes of cargo is the ship now carrying?
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Word Problems Answers
Addition & Subtraction Mix

1. 52,001 users logged in to an online game during October. In November, 18,681 fewer users

logged in. How many users logged in during November?

33,370 users l#}' ogol

2. Ten years ago, there were 8,488 houses in Greenville. During the last 10 years, 51,507 more

houses were built. How houses are there in Greenville now?

59,995 houses

3. Alocal hardware store had 4,583 paint tins in stock. Another 26,590 paint tins are delivered fo the

store. How many paint tins does the hardware store have now?

31,173 paint tins

4. In total, the Animal Rescue Centre spent $34,842 on food for the cats and food for the dogs. If
$9,930 was spent on cat food, how much did they spend on dog food?

$24,912

5. A cargo ship was carrying 21,428 tonnes of cargo. It stopped at Sydney Harbour, unloaded 12,551

tonnes, and then set of f again. How many tonnes of cargo is the ship now carrying?

8,877 tonnes
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